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QUESTION 1

If the WMI service is not running on a host, it will prevent the discovery of which devices? 

A. Network 

B. Windows 

C. Storage 

D. Unix 

Correct Answer: B 

Reference: https://support.servicenow.com/kb?id=kb_article_viewandsysparm_article=KB0656905 

 

QUESTION 2

What related list on a classifier dictates which Horizontal Pattern probe is launched? 

A. Discovery Log 

B. Classification Criteria 

C. Pattern probes 

D. Triggers probes 

Correct Answer: D  

 

QUESTION 3

For a pattern operation, which of the below choices could be a valid replacement for ? (Choose three.)
$IfTable.InstanceID 

A. [3] 

B. [X] 

C. [and] 

D. [.] 

E. [*] 

F. [] 

Correct Answer: AEF 
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QUESTION 4

Which of the choices provides active discovery errors with a help link for each error? 

A. Discovery Dashboard 

B. IP Address Failure Report 

C. Discovery Schedule 

D. MID Server Dashboard 

Correct Answer: A 

Reference: https://docs.servicenow.com/bundle/quebec-it-operations-
management/page/product/discovery/concept/c_DiscoveryDashboard.html 

 

QUESTION 5

Which of the below choices are horizontal pattern types? (Choose two.) 

A. Hardware 

B. Software 

C. Infrastructure 

D. Application 

Correct Answer: CD 

Reference: https://docs.servicenow.com/bundle/quebec-it-operations-management/page/product/service-
mapping/concept/c_MappingPatternsCustomization.html 
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